5.5 Geometry - Second Edition, Inequalities in
Triangles, Review Answers
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7. 0<x<103

18. ms1 > m:s2 becanse 7> 6

19. 1LIG.GLGH, JH

20. msl < mi2, mid > mad

2. a="F

2. a=b

2Z.a<h

M. dz<a<k<c<h

/B a=bzd=ze=r

M. ox <18

T.x=3

28. msC < msB < mzA because AR < AC

20, SAS theorem doesn't apply here since the angle is not between the pair of congruent sides.

30. Since the median AE bisects the side CT,CB = BT. By the reflexive property, AB = AB. If CA = AT
then we can use the 5588 Inequality Theorem to conclude that msABT < mzABC. Since msABT and
msABC are also a linear pair and must be supplementary, the smaller angle must be acute. Hence,
£ABT is acute.



